BID TABULATION FOR:

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE TAMARRON PARKWAY PHASE V STREET DEDICATION FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 182 CITY OF FULSHEAR E.T.J., FORT BEND COUNTY, TEXAS DECEMBER 7, 2023 LJA ENGINEERING, INC.

LJA ENGINEERING, D. FORREST DECEMBER 7, 2023 1931-6070B (9.2)

TOTAL AMOUNT BID

BIDDER'S NAME

1) DIMAS BROS. CONSTRUCTION	\$2,681,000.00
2) MATERIALS TECH, LLC	\$2,826,682.30
3) R CONSTRUCTION CIVIL, LLC	\$2,998,432.30
4) HURTADO CONSTRUCTION COMPANY	\$3,038,375.88

CALENDAR DAYS - 150/180

I, Melony F. Gay, P.E., hereby certify these bid tabulations to be true and correct

MELONY F. GAY

B. 85459

GENSENAL

BID TABULATION FOR:

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE PAVING AND APPURTENANCES
TO SERVE TAMARRON PARKWAY PHASE V STREET DEDICATION FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 182 CITY OF FULSHEAR E.T.J., FORT BEND COUNTY, TEXAS DECEMBER 7, 2023 LJA ENGINEERING, INC. D. FORREST DECEMBER 7, 2023

25.102.10			1) DIMAS BROS. CO	ONSTRUCTION	2) MATERIALS	TECH LLC	3) R CONSTRUCTI	ON CIVIL LLC
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
PAVING AND APPURTENANCES ITEMS								
1 8" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	25928	\$66.80	\$1,731,990.40	\$61.00	\$1,581,608.00	\$66.00	\$1,711,248.00
2 8" REINFORCED CONCRETE PAVEMENT, STAMPED AND COLOR FINISH, PATTERN AND COLOR AS DETERMINED BY OWNER/ENGINEER, COMPLETE IN PLACE	SY	1179	\$110.00	\$129,690.00	\$75.00	\$88,425.00	\$130.00	\$153,270.00
3 6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	15440	\$3.75	\$57,900.00	\$3.50	\$54,040.00	\$4.00	\$61,760.00
4 4"X18" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	390	\$3.75	\$1,462.50	\$6.00	\$2,340.00	\$4.00	\$1,560.00
5 8" LIME/FLY ASH STABILIZED SUBGRADE MANIPULATION, INCLUDES COMPACTION TO 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE	SY	29875	\$3.75	\$112,031.25	\$3.40	\$101,575.00	\$4.50	\$134,437.50
6 3% LIME BY WEIGHT, 19LB/SY FOR SUBGRADE, QUANTITY TO BE PAID ONLY FOR FIELD LAB RECOMMENDED QUANTITY, COMPLETE IN PLACE	TON	283.81	\$330.00	\$93,657.30	\$365.00	\$103,590.65	\$320.00	\$90,819.20
7 7% FLY ASH BY WEIGHT, 43LB/SY FOR SUBGRADE, QUANTITY TO BE PAID ONLY FOR FIELD LAB RECOMMENDED QUANTITY, COMPLETE IN PLACE	TON	642.31	\$122.00	\$78,361.82	\$148.50	\$95,383.03	\$140.00	\$89,923.40
8 FINAL GRADING, INCLUDING STRIPPING AND PROOFROLLING, HAULING, PLACEMENT AND COMPACTION OF MATERIALS AND REPLACEMENT OF STRIPPINGS, COMPLETE IN PLACE	LS	1	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
9 EXCAVATION FROM ADJACENT STOCKPILE TO BE USED FOR ONSITE ROADWAY, AND IN SPECIFIED FILL AREAS, (PER GRADING PLAN), INCLUDES EXCAVATION, HAULING, PLACING AND COMPACTION TO 95% STANDARD PROCTOR DENSITY WITH MAXIMUM 8" LIFTS, AS DIRECTED BY THE ENGINEER, OFFROAD TRUCKS, <0.2 MILES, COMPLETE IN PLACE	СҮ	239	\$5.00	\$1,195.00	\$7.00	\$1,673.00	\$7.00	\$1,673.00
10 ON-SITE DIRT EXCAVATION AND MANIPULATION TO BE HAULED, STRIPPED, PLACED, AND COMPACTED TO 95% STANDARD PROCTOR DENSITY ON-SITE FOR FILL, AS DIRECTED BY ENGINEER, COMPLETE IN PLACE	CY	934	\$5.00	\$4,670.00	\$5.00	\$4,670.00	\$5.00	\$4,670.00
11 UTILITY SPOILS TO BE USED FOR SITE FILL, INCLUDES HAULING, PLACING COMPACTING TO 95% STANDARD PROCTOR DENSITY WITH MAXIMUM 8" LIFTS, AS DIRECTED BY ENGINEER, COMPLETE IN PLACE	CY	20215	\$3.00	\$60,645.00	\$5.50	\$111,182.50	\$3.80	\$76,817.00
12 STANDARD PAVING HEADER, COMPLETE IN PLACE	LF	340	\$25.00	\$8,500.00	\$5.00	\$1,700.00	\$30.00	\$10,200.00
13 8' REINFORCED CONCRETE SIDEWALK, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	LF	7496	\$18.25	\$136,802.00	\$56.00	\$419,776.00	\$43.00	\$322,328.00
14 6' WHEELCHAIR RAMPS (TYPE 7), INCLUDING TRUNCATED DOME BRICKS TO BE STAINED WITH CONTRASTING COLOR PER THE EXISTING WHEELCHAIR RAMPS LOCATED WITHIN SUBDIVISION, INCLUDES REMOVAL OF EXISTING CURB IF REQUIRED AND ALL OTHER APPURTENANCES, COMPLETE IN PLACE	EA	22	\$1,550.00	\$34,100.00	\$1,500.00	\$33,000.00	\$1,900.00	\$41,800.00
15 PERMANENT TRAFFIC CONTROL DEVICES, INCLUDING TRAFFIC BUTTONS, PAVEMENT STRIPING, DETECTABLE WARNING SURFACE, AND REMOVAL OF EXISTING PAVEMENT STRIPING, MARKERS, REFLECTIVE PAINT ON MEDIAN NOSES, STOP SIGNS, STREET SIGNS, AND ALL OTHER TRAFFIC SIGNS SHOWN IN PLANS, ETC., COMPLETE IN PLACE	LS	1	\$17,000.00	\$17,000.00	\$33,325.00	\$33,325.00	\$56,000.00	\$56,000.00
16 4° SQUARE DOUBLE REFLECTORIZED BLUE TRAFFIC BUTTONS FOR FIRE HYDRANT LOCATION, COMPLETE IN PLACE	EA	13	\$20.00	\$260.00	\$13.00	\$169.00	\$15.00	\$195.00
17 REMOVE AND DISPOSE OF EXISTING TYPE III BARRICADE, ONLY AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	EA	2	\$1.00	\$2.00	\$290.00	\$580.00	\$1.00	\$2.00
18 INSTALL AND MAINTAIN TEMPORARY TYPE III BARRICADE, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	EA	13	\$1,200.00	\$15,600.00	\$370.00	\$4,810.00	\$1,200.00	\$15,600.00

1931-6070B (9.2)

FRN F-1386 LJA Engineering, Inc. Page 2 of 5

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE PAVING AND APPURTENANCES
TO SERVE TAMARRON PARKWAY PHASE V STREET DEDICATION
FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 182
CITY OF FULSHEAR E.T.J., FORT BEND COUNTY, TEXAS
DECEMBER 7, 2023
LJA ENGINEERING, INC.
D. FORREST
DECEMBER 7, 2023
1931-6070B (9.2)

EJA JOB NO.				1) DIMAS BROS. CC	NISTRUCTION	2) MATERIALS	TECH II.C	3) R CONSTRUCTI	ON CIVIL LLC
ITEM DESCR	IPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
19 INSTALL AND MAINTAIN TEMPORARY DEMO DIRECTED BY THE ENGINEER, COMPLETE	OUNTABLE TYPE III BARRICADE, AS	EA	6	\$1,550.00	\$9,300.00	\$3,225.00	\$19,350.00	\$2,800.00	\$16,800.00
20 INSTALL AND MAINTAIN SOD, AROUND INL WATERING, AS DIRECTED BY ENGINEER, O		SY	500	\$2.00	\$1,000.00	\$1.00	\$500.00	\$1.00	\$500.00
21 16" SOD STRIPING ALONG BACK OF CURB,	COMPLETE IN PLACE	LF	15830	\$1.00	\$15,830.00	\$1.00	\$15,830.00	\$1.00	\$15,830.00
22 16" SOD FOR EROSION CONTROL, COMPLE	TE IN PLACE	SY	1500	\$1.00	\$1,500.00	\$1.00	\$1,500.00	\$1.00	\$1,500.00
23 LIGHT CLEARING AND GRUBBING OF R.O.V THE ENGINEER, COMPLETE IN PLACE	V., TO BE USED ONLY AS DIRECTED BY	AC	9.73	\$1,000.00	\$9,730.00	\$1,000.00	\$9,730.00	\$1,000.00	\$9,730.00
24 LIGHT CLEARING AND GRUBBING OF PUBL ONLY AS DIRECTED BY THE ENGINEER, CO		AC	5.48	\$1,000.00	\$5,480.00	\$1,000.00	\$5,480.00	\$1,000.00	\$5,480.00
25 BROADCAST SEEDING, FERTILIZING AND V COMPLETE IN PLACE	VATERING, AS DIRECTED BY ENGINEER,	AC	9.72	\$500.00	\$4,860.00	\$500.00	\$4,860.00	\$500.00	\$4,860.00
26 6" P.V.C. SCHEDULE 40 IRRIGATION SLEEV COMPLETE IN PLACE	ES, AS DIRECTED BY THE ENGINEER,	LF	848	\$30.00	\$25,440.00	\$1,60	\$1,356.80	\$50.00	\$42,400.00
27 SILT FENCE INLET PROTECTION BARRIERS FOR EXISTING INLETS, (TO BE USED ONLY COMPLETE IN PLACE		EA	35	\$10.00	\$350.00	\$135.00	\$4,725.00	\$50.00	\$1,750.00
28 INSTALLATION AND REMOVAL OF REINFOF SPECIFICATIONS NO.4311, 2 FEET OFF OF BY THE ENGINEER), COMPLETE IN PLACE		LF	7261	\$1.60	\$11,617.60	\$1.60	\$11,617.60	\$1.60	\$11,617.60
29 MAINTENANCE AND REMOVAL OF REINFOI SPECIFICATION NO.4311, (TO BE USED ONI COMPLETE IN PLACE		LF	17651	\$1.60	\$28,241.60	\$1.60	\$28,241.60	\$1.60	\$28,241.60
30 INSTALLATION AND REMOVAL UPON COMP	PLETION OF CONCRETE WASHOUT AREA,	EA	1	\$300.00	\$300.00	\$250.00	\$250.00	\$500.00	\$500.00
COMPLETE IN PLACE 31 MISCELLANEOUS DRAINAGE SWALES, V B HYDROMULCH SEEDING AND WATERING, I IN PLACE		LF	4000	\$4.00	\$16,000.00	\$4.00	\$16,000.00	\$4.00	\$16,000.00
32 CEMENT STABILIZED SAND (TO BE USED O COMPLETE IN PLACE	ONLY AS DIRECTED BY THE ENGINEER),	CY	250	\$38.00	\$9,500.00	\$38.00	\$9,500.00	\$38.00	\$9,500.00
33 REMOVAL OF ALL WEATHER ACCESS ROA ROAD HAS BEEN PROVIDED. THE ALL WE MAINTAINED, ALL APPROVAL WILL BE DIR! PLACE	ATHER ACCESS ROAD ACCESS MUST BE	SY	4480	\$4.00	\$17,920.00	\$4.00	\$17,920.00	\$4.00	\$17,920.00
34 METHOD "A" CONSTRUCTION STAKING BY LP, 713.995.1306, COMPLETE IN PLACE	THE CONTRACTOR PER GBI PARTNERS,	LS	1	\$9,000.00	\$9,000.00	\$9,000.00	\$9,000.00	\$9,000.00	\$9,000.00
35 AS-BUILT FINAL GRADING SURVEY, MUST 713.995.1306, AND MUST BE SUBMITTED TO COMPLETE IN PLACE		LS	1	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
36 CITY OF FULSHEAR INSPECTION FEE (0.75 COMPLETE IN PLACE	% OF TOTAL CONSTRUCTION COST),	LS	1	\$19,563.53	\$19,563.53	\$21,474.12	\$21,474.12	\$23,000.00	\$23,000.00
37 ALLOWANCE FOR FORT BEND COUNTY PE AS NECESSARY, COMPLETE IN PLACE	RMIT FOR WORK INSIDE RIGHT OF WAY,	EA	1	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
38 REINSPECTION FEE, PER FORT BEND COU COMPLETE IN PLACE	NTY REQUIREMENTS, AS NEEDED,	EA	1	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00
PAVING AND APPURTENANCES ITEMS SUBTOTA	AL:				\$2,681,000.00		\$2,826,682.30		\$2,998,432.30
BIDDING SUMMARY									
SUBTOTAL PAVING AND APPURTENANCES ITEMS	5				\$2,681,000.00		\$2,826,682.30		\$2,998,432.30
TOTAL AMOUNT BASE BID					\$2,681,000.00		\$2,826,682.30		\$2,998,432.30

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE PAVING AND APPURTENANCES
TO SERVE TAMARRON PARKWAY PHASE V STREET DEDICATION
FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 182
CITY OF FULSHEAR E.T.J., FORT BEND COUNTY, TEXAS
DECEMBER 7, 2023
LJA ENGINEERING, INC.
D. FORREST
DECEMBER 7, 2023

4) HURTADO CONSTRUCTION COMPANY

1931-6070B (9.2)

				4) HORTADO CONSTITO	OTTON COMITAIN
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST
PAVIN	IG AND APPURTENANCES ITEMS				
1	8" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	25928	\$66.88	\$1,734,064.64
	8" REINFORCED CONCRETE PAVEMENT, STAMPED AND COLOR FINISH, PATTERN AND COLOR AS DETERMINED BY OWNER/ENGINEER, COMPLETE IN PLACE	SY	1179	\$118.00	\$139,122.00
3	6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	15440	\$3.88	\$59,907.20
4	4"X18" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	390	\$3.88	\$1,513.20
	8" LIME/FLY ASH STABILIZED SUBGRADE MANIPULATION, INCLUDES COMPACTION TO 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE	SY	29875	\$3.48	\$103,965.00
	3% LIME BY WEIGHT, 19LB/SY FOR SUBGRADE, QUANTITY TO BE PAID ONLY FOR FIELD LAB RECOMMENDED QUANTITY, COMPLETE IN PLACE	TON	283.81	\$328.00	\$93,089.68
	7% FLY ASH BY WEIGHT, 43LB/SY FOR SUBGRADE, QUANTITY TO BE PAID ONLY FOR FIELD LAB RECOMMENDED QUANTITY, COMPLETE IN PLACE	TON	642.31	\$148.00	\$95,061.88
	FINAL GRADING, INCLUDING STRIPPING AND PROOFROLLING, HAULING, PLACEMENT AND COMPACTION OF MATERIALS AND REPLACEMENT OF STRIPPINGS, COMPLETE IN PLACE	LS	1	\$5,000.00	\$5,000.00
	EXCAVATION FROM ADJACENT STOCKPILE TO BE USED FOR ONSITE ROADWAY, AND IN SPECIFIED FILL AREAS, (PER GRADING PLAN), INCLUDES EXCAVATION, HAULING, PLACING AND COMPACTION TO 95% STANDARD PROCTOR DENSITY WITH MAXIMUM 8" LIFTS, AS DIRECTED BY THE ENGINEER, OFFROAD TRUCKS, <0.2 MILES, COMPLETE IN PLACE	CY	239	\$3.80	\$908.20
	ON-SITE DIRT EXCAVATION AND MANIPULATION TO BE HAULED, STRIPPED, PLACED, AND COMPACTED TO 95% STANDARD PROCTOR DENSITY ON-SITE FOR FILL, AS DIRECTED BY ENGINEER, COMPLETE IN PLACE	CY	934	\$3.80	\$3,549.20
	UTILITY SPOILS TO BE USED FOR SITE FILL, INCLUDES HAULING, PLACING COMPACTING TO 95% STANDARD PROCTOR DENSITY WITH MAXIMUM 8" LIFTS, AS DIRECTED BY ENGINEER, COMPLETE IN PLACE	CY	20215	\$3.58	\$72,369.70
12	STANDARD PAVING HEADER, COMPLETE IN PLACE	LF	340	\$28.00	\$9,520.00
	8' REINFORCED CONCRETE SIDEWALK, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	LF	7496	\$53.00	\$397,288.00
	6' WHEELCHAIR RAMPS (TYPE 7), INCLUDING TRUNCATED DOME BRICKS TO BE STAINED WITH CONTRASTING COLOR PER THE EXISTING WHEELCHAIR RAMPS LOCATED WITHIN SUBDIVISION, INCLUDES REMOVAL OF EXISTING CURB IF REQUIRED AND ALL OTHER APPURTENANCES, COMPLETE IN PLACE	EA	22	\$1,688.00	\$37,136.00
	PERMANENT TRAFFIC CONTROL DEVICES, INCLUDING TRAFFIC BUTTONS, PAVEMENT STRIPING, DETECTABLE WARNING SURFACE, AND REMOVAL OF EXISTING PAVEMENT STRIPING, MARKERS, REFLECTIVE PAINT ON MEDIAN NOSES, STOP SIGNS, STREET SIGNS, AND ALL OTHER TRAFFIC SIGNS SHOWN IN PLANS, ETC., COMPLETE IN PLACE	LS	1	\$65,888.00	\$65,888.00
	4° SQUARE DOUBLE REFLECTORIZED BLUE TRAFFIC BUTTONS FOR FIRE HYDRANT LOCATION, COMPLETE IN PLACE	EA	13	\$18.00	\$234.00
	REMOVE AND DISPOSE OF EXISTING TYPE III BARRICADE, ONLY AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	EA	2	\$0.02	\$0.04
	INSTALL AND MAINTAIN TEMPORARY TYPE III BARRICADE, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	EA	13	\$1,175.00	\$15,275.00

Page 4 of 5 FRN F-1386
LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE PAVING AND APPURTENANCES
TO SERVE TAMARRON PARKWAY PHASE V STREET DEDICATION
FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 182
CITY OF FULSHEAR E.T.J., FORT BEND COUNTY, TEXAS
DECEMBER 7, 2023
LJA ENGINEERING, INC.
D. FORREST
DECEMBER 7, 2023

4) HURTADO CONSTRUCTION COMPANY

1931-6070B (9.2)

ITE	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST
1	INSTALL AND MAINTAIN TEMPORARY DEMOUNTABLE TYPE III BARRICADE, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	EA	6	\$2,800.00	\$16,800.00
2	INSTALL AND MAINTAIN SOD, AROUND INLETS AND MANHOLES, INCLUDES WATERING, AS DIRECTED BY ENGINEER, COMPLETE IN PACE	SY	500	\$1.00	\$500.00
2	16" SOD STRIPING ALONG BACK OF CURB, COMPLETE IN PLACE	LF	15830	\$1.00	\$15,830.00
2	16" SOD FOR EROSION CONTROL, COMPLETE IN PLACE	SY	1500	\$1.00	\$1,500.00
2	LIGHT CLEARING AND GRUBBING OF R.O.W., TO BE USED ONLY AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	AC	9.73	\$1,000.00	\$9,730.00
2	LIGHT CLEARING AND GRUBBING OF PUBLIC UTILITY EASEMENTS, TO BE USED ONLY AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	AC	5.48	\$1,000.00	\$5,480.00
2	BROADCAST SEEDING, FERTILIZING AND WATERING, AS DIRECTED BY ENGINEER, COMPLETE IN PLACE	AC	9.72	\$500.00	\$4,860.00
2	6° P.V.C. SCHEDULE 40 IRRIGATION SLEEVES, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	LF	848	\$32.00	\$27,136.00
2	SILT FENCE INLET PROTECTION BARRIERS, SWMHCA SPECIFICATION NO.4511, FOR EXISTING INLETS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	35	\$8.00	\$280.00
2	INSTALLATION AND REMOVAL OF REINFORCED FILTER FABRIC FENCE SWMHCA SPECIFICATIONS NO.4311, 2 FEET OFF OF B.O.C., (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	7261	\$1.60	\$11,617.60
2	MAINTENANCE AND REMOVAL OF REINFORCED FILTER FABRIC FENCE SWMHCA SPECIFICATION NO.4311, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	17651	\$1.60	\$28,241.60
3	INSTALLATION AND REMOVAL UPON COMPLETION OF CONCRETE WASHOUT AREA, COMPLETE IN PLACE	EA	1	\$800.00	\$800.00
3	MISCELLANEOUS DRAINAGE SWALES, V BOTTOM, GRADED TO DRAIN, INCLUDING HYDROMULCH SEEDING AND WATERING, AS DIRECTED BY ENGINEER, COMPLETE IN PLACE	LF	4000	\$4.00	\$16,000.00
3	CEMENT STABILIZED SAND (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	CY	250	\$38.00	\$9,500.00
3	REMOVAL OF ALL WEATHER ACCESS ROAD, AT WHICH TIME ANOTHER ACCESS ROAD HAS BEEN PROVIDED. THE ALL WEATHER ACCESS ROAD ACCESS MUST BE MAINTAINED, ALL APPROVAL WILL BE DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	SY	4480	\$4.00	\$17,920.00
3	METHOD "A" CONSTRUCTION STAKING BY THE CONTRACTOR PER GBI PARTNERS, LP, 713.995.1306, COMPLETE IN PLACE	LS	1	\$9,000.00	\$9,000.00
3	AS-BUILT FINAL GRADING SURVEY, MUST BE DONE BY GBI PARTNERS, LP, 713.995.1306, AND MUST BE SUBMITTED TO ENGINEER PRIOR TO COMPLETION, COMPLETE IN PLACE	LS	1	\$5,000.00	\$5,000.00
3	CITY OF FULSHEAR INSPECTION FEE (0.75% OF TOTAL CONSTRUCTION COST), COMPLETE IN PLACE	LS	1	\$22,788.94	\$22,788.94
3	ALLOWANCE FOR FORT BEND COUNTY PERMIT FOR WORK INSIDE RIGHT OF WAY, AS NECESSARY, COMPLETE IN PLACE	EA	1	\$1,000.00	\$1,000.00
3	REINSPECTION FEE, PER FORT BEND COUNTY REQUIREMENTS, AS NEEDED, COMPLETE IN PLACE	EA	1	\$500.00	\$500.00

PAVING AND APPURTENANCES ITEMS SUBTOTAL: \$3,038,375.88

BIDDING SUMMARY

SUBTOTAL PAVING AND APPURTENANCES ITEMS \$3,038,375.88

TOTAL AMOUNT BASE BID \$3,038,375.88

Page 5 of 5 FRN F-1386
LIA Engineering, Inc.